2022. 11E

ol
LH
iol
THr
io0

|
RO

xl

bl

1H10Z)

Ril
80
OH

o0

KIr
Ar
M0
KI0

4

lHz

05
RO
<0l
T
roH

ar’



H103)

!

80
O

KIr
r
Mo
KI0

0x

80
Ok

==
o

O W7|&4EAY A=, d7e7

1

Al
o

s 1, AAl D

S

O 3/ Al 47 S AHY 2,

E(FAA )

A

(577 o)

g

s

T

0]

v

<

—
S u.__.

—
.
O. =
S BN
. —

S
AT
N
S N
~
FI ~ K°
X KO
=0 N Ar

_
O
O

- d(Pb), 7F=&(Cd), 7-8](Cw), BxtMn), & (Fe), YANID, ==(Cr)

Hl 4(As), W2 FBe), &Frw(AD, Z=(Ca), vl21usMg)

.Zrl

-]

A (F71E2-F 0T, 760mmHg



TE St (b ~ 98%)
As 5 47 FEANA TE A (-2 ~ -39%)
- Ad w4 oivl ¢ As 5 107 &AM = F7F (23 ~ 83%)
Cre 55 4 (-3%)

O A 3&5dE & Bl

- F(Pb)E& 0.071ug/ni & 73 71F0.5ug/n)e] 1

- HAFe)e 0.3145pg/m = 127 &5 = 71 58 555 YyeEY
- Fe(0.3145) > Ca(0.2054) > Al(0.1156) > Mg(0.1091) >Mn(0.0191) > Cu(0.0077) >

PDb(0.0071) > As(0.0020) > Ni(0.0021) > Cr(0.0013) > Cd(0.0003) > Be(0.0000)

(Tt ug/m*)

T e PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
CIE= 7 | 00011 | 0.0037 | 0.0001 | 0.0004 | 0.0045 | 0.0973 | 0.0003 | 0.0858 | 0.0001 | 0.1456 | 0.0048 | 0.0524

= 9 | 00017 | 0.0053 | 0.0005 | 0.0014 | 0.0161 | 0.2395 | 0.0013 | 0.1047 | 0.0000 | 0.2388 | 0.0089 | 0.0960

=2 | 22 | 13 |00018 | 00089 | 0.0002 | 0.0016 | 0.0151 | 0.3351 | 0.0018 | 0.1095 | 0.0000 | 0.3040 | 0.0108 | 0.1342

ot 13 0.0035 | 0.0104 | 0.0006 | 0.0049 | 0.1155 | 0.5861 | 0.0016 | 0.1366 | 0.0000 | 0.1331 | 0.0060 | 0.1797

g4z 10 0.0020 | 0.0071 | 0.0003 | 0.0021 | 0.0378 | 0.3145 | 0.0013 | 0.1091 | 0.0000 | 0.2054 | 0.0077 | 0.1156

H = 13 ]10.0032{0.0116 |0.0003 |0.0019|0.0191 | 0.2916|0.0016 | 0.0951 | 0.0000 | 0.1683 | 0.0078 | 0.0945

e sE 10 |0.0013{0.0055 |0.0002|0.0013|0.0304|0.2548|0.0013 | 0.0596 | 0.0000 | 0.122 | 0.0061 | 0.0648

- -38% | -39% 5% 1% 98% 8% -21% 15% 0% 22% 2% 22%

My
—
%H‘oél - 55% 28% 74% 60% 24% 23% -3% 83% 0% 68% 25% 78%
CHH




0.015

0.010

0.005

i II -_I II_III || N B I " B
o5 HA '

Y ofF

WAs ©Pb  Cd wNi mCr mBe mCu

<

B\

‘

H ot
o O

N\
o
b
1%
i\
all
o
e

0.9
0.6

0.3

- mlk _IIII l III il
o5 Y

8% oF

“Mn mFe mMg mCa mAI

Ao FEEX Y )

A
no M
14 |'
I’
o
Ph
Al 1%

|

L
Jo
fio
rl (
oot



_

I4

O sh&+

- %(Pb)& 0.0037ug/mi & 377 20.5me/m)] 0.7% 5
- Z5(Ca) 0.1456ug/m &2 127) & 5

a4z

27 4

- A3 54 iy

—

5 A= 4]

=

N we FEE YEy

s% 27}

(@)
=

]

“

(22 ~ 442%)
(St g/ m*)

T = PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
= ¥ 7 0.0011 | 0.0037 | 0.0001 | 0.0004 | 0.0045 | 0.0973 | 0.0003 | 0.0858 | 0.0001 | 0.1456 | 0.0048 | 0.0524
Mo } } } .
HESE 4 0.0002 | 0.0018 | 0.0001 | 0.0000 | 0.0037 | 0.0733 | 0.0001 | 0.0356 | 0.0000 | 0.0804 | 0.0019 | 0.0314
|
CHy| B B B -
Cyak=3
(%) | ©d
| 442% | 105% 48% 0.00 22% 33% 168% | 141% 0% 81% 153% 67%
ChH|
= =z
O BWAE SAHAE

- '#(Pb)=

0.0053ug/m 2 374 7] 22(0.5pg/m) 2]
- HFe)2 0.23%ug/m 2 127} = F

z 4
o — < =z
- 4 o S 8 dFES 55 SV} 8 ~ 104%)
- -
As 5 I AFAAN FE FA (-3 ~ -48%)
(Tt ug/m*)
T 2 PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
2 ¢ 9 | 00017 | 0.0053 | 0.0005 | 0.0014 | 0.0161 | 0.2395 | 0.0013 | 0.1047 | 0.0000 | 0.2388 | 0.0089 | 0.0960
Mo 11 | 0.0024 | 0.0102 | 0.0002 | 0.0011 | 0.0097 | 0.2217 | 0.0014 | 0.0788 | 0.0000 | 0.1333 | 0.0059 | 0.0544
A= B B ) _
[ —
x <
&_HEI 31% | -48% | 104% | 31% | 66% | 8% 3% | 33% | 0% | 79% | 51% | 76%
SUE
(%) | ©4
= _ _ _ -
o
b




O e¢s 4L
- %(Fe)—f_’— O.3351ug/nf§ 127H '%P—:i % 714 %5{’—_ T2 e

- A4 fiv] : Mn 5 57 FEANAM v= SV} 6 ~ 80%)

As 5 67 &AM T A (-5 ~ -40%)

- Ad 54 th¥] : As T 87N F&EOAA = ST (5 ~ 251%)

Cd & 37| &EAqNA 5% A4 (-4 ~ -22%)

(21 pg/ m*)

T e PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al

= ¥ 13 | 0.0018 | 0.0089 | 0.0002 | 0.0016 | 0.0151 | 0.3351 | 0.0018 | 0.1095 | 0.0000 | 0.3040 | 0.0108 | 0.1342

. 13 | 0.0025 | 0.0121 | 0.0003 | 0.0022 | 0.0136 | 0.3517 | 0.0022 | 0.0846 | 0.0000 | 0.1888 | 0.0091 | 0.0745

HEsE 10 | 0.0007 | 0.005 | 0.0002 | 0.0017 | 0.0144 | 0.2341 | 0.0023 | 0.0524 | 0.0000 | 0.1017 | 0.0086 | 0.0382

Sﬁ 28% | -27% | -40% | -25% | 1% | 5% | -18% | 29% | 0% 6% | 18% | 80%

a8

=g - 157% | 77% | -14% | -4% 5% | 43% | -22% | 109% | 0% | 199% | 26% | 251%

ChH|

- FPbh)<L 0.0104pg/nd 2 37 71 Z05ug/n) ) 2.1% 432
- HFe) 05861pg/m 2 127) 8% = 713 =2 =52 Uy
- A oid] : Cd 5 77 FHFAAA v= SVt (12 ~ 240%)
As T N FEANA T A (-16 ~ -28%)
- Ad € di¥] - As 5 97 FEAA FE S} 6 ~ 132%)
Cad} Cue 5% 44 (-23 ~ -28%)

(T2l ug/m*)

T e PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
= ¥ 13 0.0035 | 0.0104 | 0.0006 | 0.0049 | 0.1155 | 0.5861 | 0.0016 | 0.1366 | 0.0000 | 0.1331 | 0.0060 | 0.1797
Hog 15 | 0.0048 | 0.0124 | 0.0005 | 0.0023 | 0.0340 | 0.3015 | 0.0012 | 0.1218 | 0.0000 | 0.1829 | 0.0084 | 0.1546
HEsE 16 | 0.0029 | 0.0098 | 0.0003 | 0.0021 | 0.0731 | 0.4571 | 0.0014 | 0.0910 | 0.0000 | 0.1839 | 0.0078 | 0.1247
x 2l
TIEI - 26% | -16% | 26% | 109% | 240% | 94% | 36% | 12% | 0% | -27% | -28% | 16%
Fix=3
% | D
(o)
=8 - 21% 6% 104% | 132% 58% 28% 17% 50% 0% -28% -23% 44%
ChH|




(EH g/ m?)

T = Pb cd Cr Cu Mn Fe Ni Al Ca Mg As Be

ox
ol

0.0032 | 0.0116 | 0.0003 | 0.0019 | 0.0191 | 0.2916 | 0.0016 | 0.0951 | 0.0000 | 0.1683 | 0.0078 | 0.0945

g

('22.9.)

0.0201 | 0.0012 | 0.0011 | 0.0079 | 0.0025 | 0.1871 | 0.0014 | 0.0646 | 0.1717 | 0.2184 | 0.0047 | 0.0000

a8
e

o
e

0.0306 | 0.0029 | 0.0007 | 0.0154 | 0.0420 | 0.3985 | 0.0022 | 0.0983 | 0.3560 | 0.2954 | 0.0137 | 0.000




[E & 1] ZADI 5 )Y HE wzsn: 234 =3 2 5143 13

71%F = 2022. 10. 10. ~ 10. 14.

g

=X
=

O

(&9 : mm)

b

Ko <

N0

0.0

0.0

0.0

ok <+

~NO ol

ofl

oll

ofl

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

Kk

Pl

of
X0

o[z

10

o
o

471>

(¥

.

A
A4

(&9 : O

e o | N | m
Ho AU L
M = | o o
ﬂ O O O
na e} (e)] (e)]
HA P S e,
= =
K o | © |~
ofl ) \e) O
LN Al — —
=
ad = | o | o
oll O e} ©o
4 ~ A A
=
i © | © | Y
ol m S|
3 A A —
e
K o |lo |l o
oll LN m ™M
2 — — —
e
K © | N |
m___ o < <
= Al — —
o | Olm | uo | Lo
Wo | X | oo
- | | 85 |10

D %)

(&4

BNl s
mmo ~— - —
1323
i N TN
v < ™
HI.. s | 2| ©
o
K © | | o
ofl N~ — [ee}
Ln — —
e
= Q — -
gl S| =8
=
K o o N
ol o | = | o
3 A A
b
s < I8} ™
ol o | = | ©
2 - A
o
i ™~ N S
ofl Ne — e}
— — —
[l on | o | Lo
Ho | X | ob
- o | # | Ho

4
Ho

<

_Z__l
A4

(&9 : m/s)

el ™~ I e
) i
o 2w g
) « — I
- < ™
N o | 2| ©
K |we| |09
ol N~ — [ce}
N — —
K Q — -
@ | ]| 7|8
K < o N
ot o | = | o
3 A A
3 < I3e) m
oll © | = | ©
2 — —
K [N || o
oll O — e}
P

oT | Ho | o
IH o
_.__.| o | X | o0

jo | B0 | Mo




|\

vy

ofd

N
0%
0%
a0
V3%
207
J‘ ‘
w
-
“ /
e 5
05t02 2to 4 4tob Gto8 05102 2108 4106 6108
ws ms™' wWs ms
Calms (< 0.5m/s)= 0% Calms (< 0.5m/s)= 10 %
LI E O KX A H -IE 2™ AN
oI-OI=| - O vo = oL
N N
0
g%
E
s s
——
05to2 2tod 4to6 Gtod 0.5t02 2to4 4106 Gtod
ws ms' weama

Calms (< 0.5m/s)= 0.83 %

Calms (< 0.5m/s)= 30.77 %

A

Hotx=
[Sl=N) o

A%

OFFS ZHYA

o

Al




~o ~
; EEE
— 8 8 =
W I
xo ® g ¥ g e ® o Z T
e TyowEEE T T he
B = T 1o — X M
48 Xx 955 4= Kom g e
o O T oo R g ® o F g oo B L
N VioXE N i vV =N
X Mo N R K To o o Mr ' i




K
,mﬂ
.l

fveel

X
Al

< 9A 54 >
R

G

TR

4] (1km)

(et

— =7

Ar

RS
Nro A r %Al_;
otu %0 = H_o U/_“m
G A -

-

ORI ED
o ot — - e
o X of | xR
.. (VAR o N I

— AFse T (ESE 2Zkm)

o NE o A R4

T Mo om Ar " <




